
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

4. a)  rad
4


  b)  rad

2


  c) 

3
 rad

4


 d)  rad  

 e)  
5

 rad
4


 f) 

3
 rad

2


 g) 

7
 rad

4


 h) 2  rad  

 

5. a) 30     b) 150    c) 210    d) 330  

 

6. a) 60    b) 120    c) 240    d) 300  
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7. a) 
4

3


cm  b) 2 cm   c) 3  cm 

 

8.   

 

 

 

 

 

9. 3 rad 

 

10. a) 11.31 cm  b) 120.6 cm  c) 44 032.6 cm 

 

11. a) 5 rad/sec 

 b) 11 309.7 m 

 

12.   

r θ s 
 

2 cm 2

3


 rad 

4

3


 cm 

 

6 cm 5

6


rad 

 

5  cm 

12 cm 5

6


rad 

10 cm 


